[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

MRS AL AL LN LR LR RN LLRRY LRLRY RRRR

1.0

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mKkFit_TToriginal

Effici —e— DQM_mkKFit_TT_JanUpdate-noErr
ICIeNd __,__ pQM_mkFit_TT_JanUpdate-noErr1H

~ 0.02p
g 018F
016F
014F

EHHCIRRCY S 8T

e AP | A

11

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045F
IS
7 0-04
9.035F
2y
< 0.03F
@
8.025F
(0]
0.02F
0.015f
0.01
0.005

10
1.05

Ratio

1
0.95F-

0.9E

%0 =15 -10

Sim. PV z (cm)



	Contents
	Page 1


